
l;=g+= of]hgfsf] gfd :yfg n=O{= 7]Ssf /sd 7]s]bf/sf] sfof{b]z e'QmfgL ePsf] jfsLlbg' kg]{

gfd ldlt

1 ;8s dd{t ;'wf/ j8f g+= !# df cfb{zgu/ Pg=cfO{=l;=j}s

b]lv klZrd snjf/ wd}{{zfnf ;Dd 2,79,113.02        2,74,437.70       dgL sG; 070/8/30 2,76,560.29       *

2 lkr ;8s lgdf{0f j8f g+=# df cflifsgljsf] sDkfp08jfn b]lv 

klZrd ;flj/ x';]gsf] 3/eO{ :s"n;Dd 4,99,683.75       4,94,221.68       Pn=lk= 070/8/30 4,94,877.97     *

3 gfnf tyf ;8s xfO6 u/L sNe{6 lg j8f !) Jof/]s k5fl8 pQ/ lj=lk=l;=sn]h 4,76,819.13        4,72,682.22       P;=P=lg 070/8/30 4,74,321.92      *

4 df6f] k'/L u|]jn ;8s / gfnf lg j8f g+= !# kz'klt lzIff :s"nb m]lv pQ/ 4,97,636.63        4,94,260.43       P;=lk= 070/9/17 4,44,728.28     *

5 ;8s 8nfg ug]{ j8f g+= !$ km'njf/L6f]ndf ljlgtf ;fxsf] - 

3/b]lv klZrd k|ltdf 2,34,376.66 2,31,378.86        Clif sG; 2,31,217.32        *

6 wd{zfnf dd{t u/L hg:jf:Yo tyf j8f - 

;ldltnfO{ sf]7f j8f g+= !% l:yt d'ln{ kf]v/L l:yt wd{zfnf 4,99,626.78       4,91,154.89       efudtL sG; 070/9/23 4,92,028.09      *

7 gfnf tyf ;8s 9nfg

j8f g+= !% zflGt6f]ndf lzj s'j/sf] slj/ /f0ff / 
>Lnfn s'dL{sf] 3/eO{ 14,77,051.97      10,33,936.37       pkef]Qmf 070/7/1 14,73,216.82 *

8 ;8s dd{t u/L u|]jn ;8s j8f g+=!* efg'rf]s b]lv k"j{ gof+ j;kfs{ 4,96,269.25        4,90,781.60       lh=l8 sG; 070/9/18 4,92,568.94      *

9 glb lgoGq0f ug]{ j8f g+=! Jhf/ 5ks}of b]lv k"j{ 8f]d6f]n klZrd 4,98,405.25      4,94,716.26       ;fhg sG; 070/9/18 4,55,600.18      *

10 df6f] k'/L u|]jn ;8s j8f g+= !( gof+j;kfs{ rf]s b]lv dfOlwof 3,22,065.59        3,18,219.30        vlthf sG; 070/ 3,44,301.42      *

11 ;8s tyf gfnf dd{t j8f g+= ! Jhf/ 5ks}ofdf /fd1f t]nLsf] 3/ 4,99,298.00 4,93,026.35        Pr=lk 070/ 4,94,670.74 *

12 df6f] k'/L u|]jn;8s j9f g+=!* le:jf s[i0f k|0ffdL dlGb/sf] pQ/ 6,93,995.69        4,85,796.92       pkef]Qmf 6,93,995.59       *

13 cf/=l;=l;=Pj+ sNe{6,df6f] k'g]{ sfd j8f g+=# df jxLk"n hfg]af6f]sf] k"j{ Pl/ofdf 2,68,234.52        2,65,173.03 of;dLg 070/9/11 2,65,179.33        *

14 cf/=l;=l;=gfnf P{j+ u|]jn j8f g+= !@ lzjkfj{tL d7 hfg] af6f]df 3,41,721.66 3,38,052.54       Odfd sG; 070/8/28 3,35,257.53       *

15 9nfg tyf gfnf dd{t j8f g+=!$ df d]g/f]8 b]lv klZrd chod'nsf]

eO{ klZrd 19,58,387.33      13,70,871.13       pkef]Qmf 19,58,389.33     *

16 lkr ;8s lgdf{0f j8f g+= !# df lzjkfj{tL dlGb/ ]b]lv sNe{6 14,11,696.98      9,88,187.89 pef]Qmf 070/9/30 14,11,696.98     *

17 lkr ;8s lgdf{0f j8f g+= !$ cf]dcf>d k5fl8 u|]; :s"n pQ/ 

v'zaxfb'/ l;hfklts]f 3/;Dd 13,93,950.45      13,93,950.45      pkef]Qmf 13,93,950.45     *

18 ;8s 8nfg tyf gfnf j8f g+=!$ g'lgof6f]ndf /fh]Gbb| dxtf]sf] 3/ 4,99,796.23        4,94,993.91       ?jL lg= 4,90,136.57       *

19 df6f] k'g]{ sfd j8f g+=!( df 5l8of j]r}gLsf] 3/b]lv glj/

x';]gsf] hUuf eO{ /fd]Zj/ rf]sl8ofs]f 3/;Dd 9,53,073.93        6,67,151.75 pkef]Qmf 070/10/20 9,53,073.93       *

20 cf/=l;=l;=gfnf Pj+ 9nfg ;8s j8f g+=!@ df /dfz+s/sf] 3/ k"j{ pQ/ - 

uhfgGbsf] 3/;Dd 14,81,885.02     10,37,319.51       pkef]Qmf 070/9/15 14,78,874.64    *

21 sNe{6 Pj+ ;8s lg Kn]6 lg j8f g+= !) df ljleGg 7fp+x?df / ;jf]{qd - 

jL/u+h pkdxfgkflnsf sfof{nojL/u+h pkdxfgkflnsf sfof{nojL/u+h pkdxfgkflnsf sfof{nojL/u+h pkdxfgkflnsf sfof{no
k;f{, jL/u+hk;f{, jL/u+hk;f{, jL/u+hk;f{, jL/u+h

)&).)&! df ;+rflnt cfly{s,;fdflhs Pj+ ef}lts ljsf; of]hgfx?sf] ljj/0f)&).)&! df ;+rflnt cfly{s,;fdflhs Pj+ ef}lts ljsf; of]hgfx?sf] ljj/0f)&).)&! df ;+rflnt cfly{s,;fdflhs Pj+ ef}lts ljsf; of]hgfx?sf] ljj/0f)&).)&! df ;+rflnt cfly{s,;fdflhs Pj+ ef}lts ljsf; of]hgfx?sf] ljj/0f



nagar 70-071l;=g+= of]hgfsf] gfd :yfg n=O{= 7]Ssf /sd 7]s]bf/sf] sfof{b]z e'QmfgL ePsf] jfsLlbg' kg]{

gfd ldlt

lSnlgs / cu/jlQ km}S6|L;Dd 4,95,141.48       4,92,386.45       kjg sG; 070/10/9 4,67,762.42      *

22 gfnf tyf ;8s 9nfg j8f g\ # k|ultgu/df kqsf/ g]xfn s0f{sf] 3/ -                  

b]lv df]Vtd ldofsf] 3/eO{ g]xfnsf] 3/;Dd 4,98,413.67       4,90,845.42      Go" cfsfz 4,91,664.66       *

23 lkr ;8s dd{t ;'wf/ j8f g+= @ df d]g/f]8 b]lv klZrd cf]dzflGt6f]n -                  

/ blIf0f 8f=sf]O/fnfsf] 3/;Dd 11,88,673.89      8,32,071.72        pkef]Qmf 11,88,673.89     *

24 lkr ;8s lgdf{0f j8f g+= @ / $ sf] ;fwdf /x]sf] d'n ;8s 7,98,764.10       6,39,011.28        pkef]Qmf 3,19,505.64       3,19,505.64       

25 cf/=l;=l;=gfnf Pj 8nfg ;8s j8f g+= !# czf]sjfl6s xg'dfg dlGb/ b]lv 4,97,434.79       4,95,471.35       c?0f sG; 4,96,061.16       *

26 gfnf tyf ;8s 9nfg sfof{no ejg dfly /x]sf] k|ltIffno ejgdfly 4,99,375.95       4,94,596.31       lbg]z lg 070/ 4,93,773.62       *

27 cf/=l;=l;=gfnf tyf ;8s 9nfg j8f g+= !# df czf]sjfl6sfdf lzjgf/o0fsf] -                  

3/b]lv blIf0f 11,74,195.60      8,91,936.92        pkef]Qmf 070/9/8 12,74,195.60     *

28 af6f] prfO{ u/L ;8s 9nfg j8f g+=!$ /fgL3f6df ljho kf}8]nsf] 3/b]lv 2,89,973.15        2,88,476.84      ;fu/ sG; 070/9/19 2,56,883.56       *

29 9nfg ;8s lg j8f g+\=!# df ljgf]b 7fs'/sf] 3/b[]lv blIf0f 2,99,094.46       2,97,024.23       Go" l;d/g 070/9/19 2,97,372.21       *

30 k|f]6]S; jfn nufpg] sfd j8f G+= !$ >Lk'/ k'/fgf] j:tL pQ/ wd{zfnf 4,93,871.33        4,89,446.88      cho lg= 070/ 4,89,446.88     

31 u|jn ;8s lgdf{0f j8f g+=!& jx'c/Ldf db{zf hfg] af6f] b[]lv k'/fgf]

d:hLb;Dd 6,99,851.09       5,59,880.87      pkef]Qmf 5,59,880.86      *

32 ;8s dd{t j8f g+= !& jx'c/L ld:6/ cG;f/Lsf] 3/b]lv 4,99,533.63        4,95,610.75       ;g/fOh sG; 070/10/8 4,94,776.30      *

33 9nfg ;8s lg j8f g+= !^ lhNnf cbfnt sfof{no leq 4,12,814.72       4,01,885.52       :g]xf sG; 070/10/8 4,00,815.97      *

34 gfnf tyf ;8s j8f g+=!# gu/;efu[x leq 4,99,889.09      4,95,397.09       lkmhf sG; 070/ 4,95,397.09       

36 gfnf tyf ;8s 9nfg j8f g+= !% ;'/]z zdf{sf 3/b]lv zq'wg pkfWofo -                  

sf] 3/;Dd 14,30,186.08      10,01,130.25      pkef]Qmf 467 1/3 14,27,956.36     *

37 gffn tyf 9nfg ;8s j8f g+= ( s'Dxfn6f]n xflsd ldofsf] 3/b]lv -                  

k"j{ 1,00,280.08       8,02,246.45       pkef]Qmf 070/11/1 10,02,808.05    *

38 gfnf tyf ;8s lg j8f g+= @ df hgf{bg l;+x If]qLsf] 3/b]lv ;+ho -                  

l;+xsf] 3/;Dd 7,05,972.08       5,64,777.67        pkef]Qmf .070/10/ 7,04,183.14      *

39 gfnf tyf ;8s lg j8f g+= !^ df vfB ;+:yfg b]lv jfnsi0fsf] 3/ 7,00,923.16        5,60,738.52        pkef]Qmf 070/10/25 7,00,499.04     *

40 df6f] k'/L u|]jn ;8s lg j8f g+=!^ /fw]dfO{6f]ndf u|]; :S"n b]lv ;f]gf -                  

rf}w/Lsf] / df]xL nfn u4Lsf] 3/;Dd 4,98,208.45      4,90,769.74       cljgfz sG; 070/10/14 4,90,911.49      *

41 lkr ;8s lgdf{0f j8f g+=@ ;'jf]b s0f{sf] 3/b]lv vflnbfsf] 3/ -                  

/ xf?0fsf] 3/lg/ 3,52,284.72       3,47,507.77       ldlyn]z P08 070/10/15 3,57,840.49      *

42 a+s[6 ;8s tyf gfnf j8f g+= !^ lkr /f]8 b][lv hldnf vft'gs]f 3/ -                  

eO{ k"j{ k/;f}gL hfg] af6f];Dd 7,00,599.08       5,60,479.26       pkef]Qmf 7,00,402.80     *

43 lkr ;8s lgdf{0f j8f g+= !% ljBf;b :s"n b]lv k"j{ d'ln{ kf]v/L 10,00,659.72      8,00,527.77       pkef]Qmf 9,97,243.51       *
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nagar 70-071l;=g+= of]hgfsf] gfd :yfg n=O{= 7]Ssf /sd 7]s]bf/sf] sfof{b]z e'QmfgL ePsf] jfsLlbg' kg]{

gfd ldlt

44 df6f] k'/L u|]jn ;8s lg j8f g+=!$ k|df]b l;+xsf] 3/b]lv klZrd 4,99,900.82      4,93,903.32        cg' sG; 4,92,964.22      *

45 u|]jn ;8s lgdf{0f j8f g+=!^ /fw]dfO{6f]ndf ;'efif ;Tofnsf] 3/ 2,49,929.32       2,46,597.66        cf/tL sG; 070/12/11 2,46,014.83      *

46 kSsL ;8s lg j8f g+= # df cfb{z6f]ndf lqj]0fL h};jfnsf] -                  

3/b]lv Hof]lt bfxfnsf] 3/;Dd 9,01,311.76         7,21,049.40       pkef]Qmf 071/1/15 5,40,787.05      *

47 lkr ;8s dd{t ;'wf/ 306f3/ b]lv k"j{ efg' rf]s;Dd 4,75,181.59       4,70,415.05       l4j]bL lg= 070/12/28 4,69,324.82      *

48 df6f] k'/L u|]jn ;8s j8f g+= !* l8efOg :s"n b]lv pQ/ eO{ k"j{ -                  

k|df]bsf] sDkfp08jfn;Dd 2,59,356.53        2,56,473.84       cf]d lg=;]jf 071/1/23 2,54,601.32       *

49 df6f] k'/L u|]jn ;8s j8f g\ !# df kz'klt lzIff dlGb/ pQ/ -                  

;Gtf]if s0f{sf] 3/b]lv ;xgLsf] 3/;Dd 2,99,047.96       2,94,617.44       pQd lg 070/11/16 2,93,541.41       *

50 gfnf tyf ;8s lgd{0f j8f g+= # cfb{xz6f]ndf xl/ rf}w/Lsf] 3/b]lv

blIf0f /fh]zdfghLs]f 3/;Dd 9,92,163.53        7,93,730.82        pkef]Qmf 070/12/21 9,92,163.52       *

51 cf/=l;=;l=gfnf lgdf{0f j8f g+=# k|ultgu/df lbn dxdbsf] 3/b]lv blIf0f 

;Gtf]if k6]nsf] 3/;Dd 3,14,305.69        3,11,936.84        o'y ljN8;{ 070/12/18 3,11,936.84        

52 gfnf tyf lkr ;8s lg j8f g+=!# df /fwfs[i0f dlGb/ b]lv blIf0f 

lrof k;n;Dd 4,99,815.45       4,93,468.18       nSsL lg 070/9/17 4,97,458.98     *

53 s|;8|]g lgdf{0f j8f g+=!^ df d]g/f]8 b]lv k"j{ dgf]h u'Ktfsf] 4,96,521.98       4,94,293.31        lt?klt sG; 070/10/15 4,94,061.88     *

54 gfnf lgdf{0f j8f g !% d'ln{kf]v/L b]lv blIf0f tkm{ jfOkf;

hfg] ;8sdf 3,40,458.58      3,36,763.73         ljz' sg; 070/12/12 2,43,571.22       93,192.51          

55 kSsL gfnf Pj+ :n]j lg j8f g+=!# l:yt bdsn :6fkm Sof6/ lg/sf] 4,98,224.80      4,94,985.91       ;g/fOh lg= 070/8/28 4,91,160.16       *

56 s+s[6 ;8s 9nfg

j8f g+=!( gujfdf j\Xd /fpt j/}sf]] 3/b]lv 
/fdlht /fptsf] 3/;Dd 4,18,537.97       4,11,939.47       dgf]h sG; 071/1/24 4,10,641.50      *

57 ;8s lgdf{0f j8f g+= !( jfOkf; b]lv s+rgh+3f :s"n;Dd 4,99,346.70       4,95,473.16       hf]lg; sG; 071/1/26 80,163.38         4,15,309.78       

58 df6f] k'/L u\]jn ;8s lgdf{0f

j8f g+=!% d'ln{df zzLsk'/ ldofsf] 3/b]lv blIf0f 
d'ln{ kf]v/Lsf] l8n;Dd 76,677.90          76,677.90          pkef]Qmf 77,282.90         *

59 df6f] k'/L u\jlnË ug]{ sfd

j8f g+= !$ ljBfkltgu/df cR5]nfn ;xgLsf] 
3/b]lv dgf]h s''df/ k6]nsf] 3/;Dd 1,38,740.39       1,37,088.29       lqz'n sg; 071/2/9 1,36,319.17        *

355,78,749.13    313,51,946.17     -        467.33     334,97,913.45   21,24,788.74     
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